ZRaE

~84{ LT EER

T* A ¥ F
1 2 3
1 53 61 51
2 47 55 51
3 46 52 49
4 50 58 54
5 49 54 50

WL R A 474 (ANOVA )t T4 18 Benfy
Foos(28) =4.46 5 Fy(48) =384 ; F,(82) =19.37 ;

(74N IR Y AR L FTAR A YRR
LR
1 g4 8- B RS nT o g edefr o 4T & AT
i 1 2 3 4 S 6
I o g X 7150 | 9350 | 93.00 | 8800 | 96.25 | 79.75
AcEFY (HF ) 1 14 18 13 16 12
Bk TR & R AT S T IR AL (25%)
(1) pediarfF= 425¢
(2) F9 4 enTio4 5 8250 REAFPE G E o
(3) wiF» AN HARE T > frit 0 5 o mfiaffa 4 o
2. BEFZIBE Luld T T ER T ekt TERB LB BRNER > BE o &y

(oL EER R LI HFLE? (=005
Foos(8/4) =6.04) (25%)

The Times magazine reported that of the 94 patients treated for skin cancer (melanoma lesions), “the
average time from their surgery and injection to the occurrence of melanoma was 30 months.” In the past,
the population average of other groups of melanoma patients receiving aternative types of treatment had

been 17.5 months. (25%)

() Statethe null and alternative hypotheses to test whether the new treatment results in a greater
average time before the recurrence of the melanoma. (Define al notations.)

(b) Draw adiagram showing the null hypothesis rejection region for atest at a 5% Type-1 error level.
(Make sureto label all points of interest.)

(c) If the p-value for the test was 0.0002, what was the population standard deviation?

(d) Given the answer in (c), how do you know that the population of time before recurrence of the
melanoma cannot be normally distributed? What does the population look like?

. In a lottery game, a player selects 6 integers out of the first 49 positive integers. The sponsor then

randomly selects 6 out of the first 49 positive integers. Cash prizes are given to a player who matches 4,

5 or 6 integers. Let X equal the number of integers selected by a player that match integers selected by
the sponsor. (25%)

(@ Statethep.d.f of X.

(b) Calculate the mean, variance, and standard deviation of X.

(c) What value of X is mostly likely to occur?

(d) On March 4, 2005, the jackpot was worth $450,000,000. When the prize is large, alot of bets are
placed. Out of 25,000,000 bets that were placed, 3 people matched 6 number and 390 matched 5

numbers, 22187 matched 4 numbers. Are these number of winners consistent with the probability
model ?



